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Description

Hello,

I'm currently studying Understanding Society Waves 1-3 in relation to travel behaviour and social trends, but need clarification on an
issue. In Wave 1 for example in the a_worktrav variable 50% of responses were (-9) inapplicable. What does this actually mean?

Similarly, | have seen in another project a list of travel modes which includes 'working from home' amongst the other responses from
_worktrav e.g. bus, car, walk etc. but cannot find this, at least not in Wave 1. Does this mean the work from home option in included
in the inapplicable one?

Cheers,
Rob

History

#1 - 07/08/2014 09:21 AM - Redmine Admin

- Category changed from Data analysis to Data documentation
- Status changed from New to In Progress

- Target version set to X M

- % Done changed from 0 to 50

The universe for this question can be found in the documentation, however, in this case you also need to exclude sample members interviewed by
proxy (ivfio)

* Stata example

qui {
foreach w in a b c {
n di _newline "-——-> Wave: “w'"

use "“w'_indresp, clear

g ask=("w'_jbsemp==1 & inrange(‘w'_Jjbpl,2,4) & "w'_ivfio!=2)
numlabel ‘w'_worktrav,add m(#.)

n ta “w'_worktrav ask

}

}

w_jbpl asks the place of work including 'at home'
Jakob
#2 - 07/18/2014 08:16 AM - Redmine Admin

- Status changed from In Progress to Closed

- % Done changed from 50 to 100
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